EARAROBEEIERT — 2 N— IBISH —F

20165F9A1H (K) 10EIFI5I6H

NN 3Ll EC4—2 C4 53R

‘ (] 8 ‘ (EmmEl  — | 4 (@) 12000 B

[A~&£] 1 7% 200,000 ~ 23&:40,000 ™ ~ 33#&:30,000M . 43:20,000H  53&:10,000 M

B B BEBR M HE BF (FE) g4 L (&%) | BBIER | EOF SR | AR | HhE | BRE (FIR) / BE / £ERS
. H o3 | BT 1:14.7 2-2 - - 4 450 |FEBE— (AtiEE)
11810 VoAN— 56.0 (=) (-a) s =
Rihrn=— B:T7prF—bty b EErstatie]
PN 43 | B 1:14.9 5-6 - | - 3 492 | EEEESL (Atimsd)
] 4| FHE-L 56.0 ) () |E3FF0E .
R:TFv784 K B:T7SET7—% THHE
= 4 | IHIEE 1:15.0 3-3 - - 5 498 | REARL (tiEE)
3l7lg|774—7 - 56.0 7E) (+4) (*ﬁ‘sL I\°'r7j':17—777L\
LT ReAVA -5 BV NAHA4< YA FHIE
. ¢ f 3 | ARE= 1:15.5 1-1 - | - 1 42 | FEERL (uimd)
4)8|9 | FvIA—/NTa—L 54.0 2 172 o |EEEE
:J4 7 hT7—vEY BiRya—XEY-— =lizties]
N ; 5 4 5 | WTHH 1:15.5 5-7 — — 6 480 | KMt (dtimE)
5177 32€217-> 56.0 (7E) (1) | MBI ATF -
LN=Y754 B:RK==2JXb=L Glbeie]
o VAN BRERS 2 :15. — — — EAREHE (eimE)
6 2 YTF=T7514> 5 54.0 1(11/52)6 &8 ’ (‘:7:) Kﬂ‘éﬁ%ﬁﬁﬁ -
LR ANF2YLTF— BV X-—TrA 5% —His
s = . Sk : -~ - - NHE (dtmE)
1 - NEESPEETET: # s | B R B -
L:T77NTTT BRIIFVIAUT TAFAT7—L
= > 3 | AtEEE 1:16.0 5-3 - - 2 424 | ZWFE (tEE)
gl 3| TLT KRB 77 860 @ Cig) | % Pamaeis
L:J7—=3U7> B v bbb HIA XLy h
alllE :16. — - — Kt (dtimE)
9ol5l5|TTHLTIAb w4 | B [ o0 S | s
R:TFATLXEAML By rv—%— HEARBS
j BT 7. y =] = ENT (LimE)
10011 ]8=V2TUZ % 5 bt 1(177)6 8-8 10 (::(2)) ,%#Aﬁﬁ i
:2Y—O0—-NVZ B:TYRKIYaY REE RS
® 1 — @B
13—7-—
2a=5"=
33—7— 9,10,(6,8),(3,4,7),(1,2,5)
43—+ — 9,10, (3,6,8) ,4,7,(1,2) ,5
[ /N
B 10 1,030M 74K 4-10 960 B 4-8 540 JEE 4-8-10 2,620/
B B 10 290H 8-10 730M B & 4-10 1,600 JEE 10-4-8 15,590
4 170 4-8 480M B E 10-4 3,820
8 180M

ABICOVWTRDTEEERROODE. TR LIV,




